Tilfejelse op til 100 (vandret)

56 +61 =

2+13=

12+2=

86+ 94 =

68 +22 =

76 + 74 =

66 + 33 =

86 + 60 =

72 +59 =

Dato: Score:

100 + 68 =

30+ 44 =

2+1=

64 + 87 =

61 +4=

30+7=

32+29 =

14+ 46 =

35+29 =

A1+10 =
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Tilfejelse op til 100 (vandret)

92 +97 =189

56 +61 =117

2+13=15

12+2=14

86 + 94 = 180

68 +22 =90

76 +74 = 150

66 +33 =99

86 + 60 = 146

72+ 59 = 131

Dato: Score:

100 + 68 = 168

30+44 =74

2+1=23

64 + 87 = 151

61 +4 =65

30+7=737

32+29 =6l

14+ 46 = 60

35+29 =64

41 +10= 51
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